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2.1 ���	���������
���� 

 2.1.1 ���������� 
���������	 (Forecasting) ������� ��������� (Prediction) ���!�"����	��#$���

%�&���!'�(�$��!)*"�$�+,�-.$�/0��#$1�)2����	�341�5"-�6�(�$"3)�34�3�#6�7��$�!	%�&�$8
9�������	1"3�:�,� ���������	1%;�9':�9��!,<-$����:��=>�����34?&��� >/.������	?&).$�
$�+,�%�&98����	��#$�@AB3�0,�1��C	1�#4$9�,89�2����������	 (+5�50,�A�	  92:���:�+	, 
2540) 9����,8���������	 =8'�1%;� 2 %�&1I�(�<'J !#$ 
 1. ���������	=88M�'�3�0,����(Informal Forecasting) 1%;����������	*"�$�+,�
%�&98����	-$�>/.������������	1�3��$�'��1"3�:*"�M�'�3:5R3��#$�0,����("J :5R3�361���&9�
9����,8���������	(�R2��5?-��"10S���#$-��"!�$8!�,: 
 2. ���������	=88�3�0,���� (Formal Forecasting) ���������	=88�36$�+,��0,�
:5T����T':�(����������	  U�4�9�����=8'�$$�M".1%;� 2 �:�(�<'J !#$ 
 1) ���������	1T5�%�5��� (Quantitative Forecasting) 
 2) ���������	1T5�!2�I�� (Qualitative Forecasting) 
 ���������	1T5�%�5��� ������� ���������	�34(T.),:10-)'��J ��!���:���!'�%�5���
!:��).$����-$�95�!.���#$8�5����,6�J ���������	1T5�%�5���9�����?��=��$$�1%;�  2 
%�&1I� (9,��	T,�  �054��5�20, 2527) !#$  
 1. ���������	�34$R58��M". (Explanatory Forecasting) U�4�%�&�$8".:����:51!��&�	���
�"�$� (Regression  Analysis) =0&1�!�5!���������	*"�(T.=88?��0$�1+�A7�5)5 (Econometric 
Model) 
 2. ���������	=88$�2���1:0� (Time Series Forecast) 1%;����������	�34(T.),:10-
-.$�/0(�$"3)��������������	 U�4��5��(T.�,����(����������	R2��5?=0&$2)9������ ���
������	=88�36�3�0��:5R3 ",��36 
  1) ���������	=88  Native  
  2) ���������	=88%�,8(�.1�3�8 (Smooting Techniques) 
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  3) ���������	".:�:5R3��=�:*�.� (Trend Extrapolation) 
  

2.1.2 ���� ����!
�!"�#$�%$�&#���������� 
 1. �/%=88-$�-.$�/0 (Data Pattern) ������� �/%=88-$�-.$�/0(�$"3):'��30,�A�&���
1!0#4$�M�:=88(" *"��,4:M%=8'�1%;� 4 �/%=88 !#$ 
  1) -.$�/0�34�3�/%=881%;�=�:�&",8 1%;�0,�A�&-.$�/0�341%;�19.�)��(�=�:��8 
M�'�30,�A�&=�:*�.��341"'�T," 
  2) -.$�/0�34�3�/%=881%;�=�:*�.�  1%;�0,�A�&-.$�/0�34�3=�:*�.�-�6���#$0�)��
1:0�  U�4�=�:*�.��36$�?1%;�0,�A�&19.�)����#$M�'1%;�19.�)���SM". 
  3) -.$�/0�34�3�/%=88-�6�0�)��@"/��0 -.$�/0%�&1I��36M".�,8$5�R5�0?��@"/��0 
���(�.�3���-�6�0�(��$8���4�MU1!50��#$���4�%h 
  4) -.$�/0�34�3�/%=88:,i?,�� �3�/%=88!0.��J =88@"/��0 =)'MU1!50?&M�'=�'�$� 
1�#4$�?���3%j??,�)'��J �34�3$5�R5�0)'$���1!0#4$�M�:-$�-.$�/0 
 2. !:��=�'����-$����������	 (Accuracy) ������� !:���/�).$�=�'����-$����
������	 U�4����:,"!:��=�'����?&(T.M".�,8���������	1T5�%�5���1�'��,6� ���:,"!:��=�'����
9�����=8'�M". 4 :5R3 
  1) !'�1k034�9':�1834��18�9�8/��	 (Mean Absolute Deviation: MAD) 1%;����:,"
!:��=�'����?��!'�1k034�>0�:�!:��=)�)'���&�:'��!'�-.$�/0�34=�.?�5��,8!'�������	 
 

   
1�#4$ Yi =    !'�-.$�/0�34=�.?�5� 

  Ŷi =   !'�������	 
  n  =   ?���:�-.$�/0 
  2) !'�1k034�!:��!0�"1!0#4$����0,�9$� (Mean Square Error: MSE) 1%;����:,"
!:��=�'����?��!'�1k034�>0�:����0,�9$�-$�!:��=)�)'���&�:'��!'�-.$�/0�34=�.?�5��,8!'�
������	 
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1�#4$ Yi =    !'�-.$�/0�34=�.?�5� 

  Ŷi =   !'�������	 
  n  =   ?���:�-.$�/0 
  3) !'�9,�%�&95�R5q9�9,��,�R	�&�:'�� Y �,8 Ŷ  1�#4$�?��!'�%�&95�R5q9�9,��,�R	
1%;�),:10-8'�T36���!:��9,��,�R	�&�:'��),:=%��34�����+��A� *"�!'�9,�%�&95�R5q9�9,��,�R	 ?&�3
!'�),6�=)' -1 ��� 1 �.�!'� r �3!'�1-.�(�0. 1 =9"�:'� Y �,8 Ŷ �3!:��9,��,�R	�,���� �,4�����!:��:'� 
Ŷ  ������	 Y M"."3 =)'�.�!'� r �3!'�1-.�(�0. 0 =9"�:'� Y  �,8 Ŷ M�'�3!:��9,��,�R	�,� �,4�
����!:��:'� Ŷ =)�)'��?�� Y ��� =0&�.�!'� r �3!'�1-.�(�0. -1 =9"�:'� Y �,8 Ŷ �3!:��9,��,�R	
�,����08 �,4�����!:��!'�������	M�'9$"!0.$��,8!'�-.$�/0�34=�.?�5� 
 

 

 

 

 
1�#4$   Yi =    !'�-.$�/0�34=�.?�5� 

    Ŷi =   !'�������	 
    Y =   !'�1k034�-$� Yi 
    Ŷi =   !'�1k034�-$�  Ŷi 
    n  =   ?���:�-.$�/0 
  4) !'�1k034�-$�!'�9�8/��	1%$�	1US�)	!:��!0�"1!0#4$� (Mean Absolute Percent 
Error : MAPE) 1%;����:,"!:��=�'�����34M�'�3��':�U�4�?&(T.1%;�!'�1%�3�81�3�8!:��=�'�����341�5"
?�����������	$�2���1:0��0��T2"�34�3��':�-$�-.$�/0)'���,� 
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1�#4$ Yi =    !'�-.$�/0�34=�.?�5� 

  Ŷi =   !'�������	 
  n  =   ?���:�-.$�/0 
 
 ���:,"!:��=�'����-$����������	".:�:5R3 MAD =0& MSE 1�5"?��=�:!5"1"3�:�,� !#$
:,"!:��=)�)'���&�:'��-.$�/0�34=�.?�5��,8!'�������	�34M". *"� MAD ���?,"1!�#4$������341�5"".:�
���(T.!'�9,�8/��	 =)' MSE ���?,"1!�#4$�����".:����(T.���0,�9$� ".:�1�)2�36!'� MSE ?&�3!:��M:
)'$���:,"!:��=�'��������:'� MAD ",��,6�?���5��(T.!'� MSE :,"!:��=�'��������:'� MAD 
 3. !'�(T.?'��(����������	 (Cost) (����������	?&).$��3!'�(T.?'���,8),6�=)'!'�(T.?'��(�
���1�S8�:8�:�-.$�/0?���&�,4�!'�(T.?'��(����!���:� U�4�%j??28,��5��(T.1!�#4$�!$��5:1)$�	(�
���!���:� =)'�.�1�!�5!(����������	M�'�2'����U,8U.$��S?&M�'?��1%;�).$�(T.1!�#4$�!$��5:1)$�	 
!'�(T.?'��(����������	?&�/�0� 
 4. T':�1:0��34(T.������	 (Time Span) *"��,4:M% T':�1:0��34(T.������	=8'�$$�M". 
4 �&",8 !#$ 
  1) ���������	 1 ��':�1:0�0':���.�(Intermediate Forecast) 1%;����������	
�&�&9,6���� !#$ 1�3�� 1 9,%"��	 1 1"#$���#$%h-.����.� U�4�?&M".),:10-������	1�3��),:1"3�:
1�'��,6� :5R3�34(T.9����,8���������	1k��& 1 ��':�1:0�0':���.� !#$ ���%�,81�3�8!'�1k034�1!0#4$��34
=0&���%�,8(�.1�3�81$�U	*%1��1T3�0 
  2) ���������	�&�&9,6� (Short-Term Forecast) *"�%�)51%;����������	  
1 ��':�1:0�0':���.� ��#$ 1 :,�M%?���� 3 1"#$� 1���&9���,895�!.��34�3���M�:),:(�)0�"��� 
  3) ���������	�&�&�0�� (Medium-Term Forecast) *"��,4:M%?&1%;����
������	(�T':� 6 1"#$���� 2 %h ���������	(�T':��36 1���&9����,895�!.��34�3!:��M�:),:M�'9/�
�,� =0&1���&9����,8�����?"���=>����>05)95�!.� 
  4) ���������	�&�&��: (Long-Term Forecast) �34(T.1:0�),6�=)' 2 %h-�6�M% 1%;�
���������	9����,8���:��=>��&",89/� 1T'� =>��,v���,v��9,�!�=0&1+�A7�5?-$�T�)5 
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 5. -.$?���,"$#4�J 1�#4$�?��1�!�5!������	8��:5R3�3!:���2'����U,8U.$� ).$�$�+,�!:��
T����< =)'��':����-�"82!0����341%;�>/.T����< �$�?���36�,�).$�193�!'�(T.?'��(����1�S8�:8�:�
-.$�/0��#$$#4�J ",��,6�?��!:�10#$�:5R3�34�'��=0&1���&9��,8�/%=88-.$�/0 
 
 2.1.3 �����������#(����
��
��)�
#
*#�� (trend extrapolation) 
 ���������	=88��=�:*�.� 1%;����������	�34�5��(T.�,����(�R2��5?=0&$2)9������ 
*"��3wj��	T,��������0��=88 ",��36 
 1. wj��	T,�19.�)�� 
 ���������	=88�36 (T.(����3�34-.$�/0�30,�A�&1%;�=�:*�.�-�6���#$0�1%;�19.�)�� U�4��3
�/%=88 ",��36 
  Ŷ =   a + bX 
1�#4$  X =   1:0� 
  a =   intercept -$�wj��	T,� 
  b =   !:��T,�-$�wj���	T,� 
 U�4���!'� a =0& b M".?�� 
 

  b =    nΣXY-ΣXΣY 

     nΣX2 z (ΣX)2 
 

  a =    
 
 2. wj��	T,�1$�U	*%1��1T3�0 
 wj��	T,�1$�*%1��1T3�0�3�/%=88  ",��36 
  Ŷ =   abX 
 wj��	T,�1$�U	*%1��1T3�0�30,�A�&=�:*�.�M�'1%;�19.�)�� =)'9�����=%0�(�.1%;�
9����19.�)��M".*"����(9'!'� Logarithm (�9����",��36 
  log Y = log a  +  (logb)X 
 ?���,6��S9�����?&(T.:5R3���0,�9$��.$��3492"(������!'������51)$�	M". ?&�30,�A�&",��36 

  Σlog Y  = nlog a  +  ΣX (log b) 

Σ(Xlog Y) = ΣX (log a)  +  ΣX 2(log b) 

XbY −
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3. wj��	T,4�����*80� 
 wj��	T,4�����*80��3�/%=88  ",��36 
  Ŷ =   a  +  bX +bX2 
 wj��	T,�����*80� �3 Normal Equations �:� 3 9����",��36 

  Na  + bΣX  +  cΣX2 =  ΣY 

  aΣX  +  bΣX2  + cΣX3 =  ΣXY 

aΣX2  +  bΣX3  + cΣX4 =  ΣX2Y 

(����3�34 ΣX  =  0  Normal  Equation  ?&1�0#$",��36 

Na  +  cΣX2 =  ΣY 

  bΣX2    =  ΣXY 

aΣX2   + cΣX4 =  ΣX2Y 
  

4. =88 s curve 
 wj��	T,��36�/%=88!0.��J),:1$9 U�4��8��(��/%=88-$�����'���$"1�!*�*0�3 =0& 
diffusion  Process 1T'�����$��,8-$�1�A)���(�1�!�5!��������=88(��' ��#$����$��,8-$�
T�:8.��(����!2����1�5"1%;�).� (9,��	T,�  �054��5�20, 2527) �/%=88-$�wj��	T,4��30,�A�& ",��36 
 
  Ŷ =   e(a-b/x) 
 (������!'� a =0& b (�.=%0�1%;�wj��	T,�19.�)��  ",��36 

  ln Y =   
X
b

a −  

                    
 (�.  Z   =                     =0&  R   =     ln Y 

          
 ?&M". 
  R = a  -  bZ 
 
 =0.:?���� !'� a =0& b ".:�wj��	T,�19.�)�� 
 
 

X
1−
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2.2 
���������������
���� 
9,�@�R5q  1w}~$�?,���	=0&!�& (2534) M".+��A�%�0	��6���,�(�I�!)&:,�$$�1k3��1��#$ 

1%;����:5?,�1�#4$9'�19�5�(�.�3���%0/�%�0	��6���,�(��#6��34�,4:M%=0&(��#6��34"5�1!S�-$�I�!
)&:,�$$�1k3��1��#$ 1�.�1�#4$�����,v��������$$�"$�=0&���)5">0 ?�����:5?,��8:'��3).��34
$$�"$�M".�,6�),:>/.=0&),:1�3�(�).�1"3�:�,�(�%h �.+. 2533 =0& �.+. 2534 ?���:� 186 ).�=0& 
82 ).�)��0��",8 U�4�?&�3>0��&�8?��%�5����6���� !:����:���-$�=9�=""=0&!:��1-.�-$�
=9� (�0,�A�&!'�>0�:�1%;����%h",�?&1�S�M".:'� %h �.+. 2533 �3%�5����6����9/���� 1387.0 
�50051�)�����:'�%�5����6����(�%h �.+. 2534 U�4��31�3�� 1265.5 �50051�)� 9$"!0.$��,8������
-$� Harley U�4�M".������:'����)5">0-$�%�0	��6���,�?&).$��3%�5����6�����:��,6�%h),6�=)'  
1,219-2,108 �50051�)� ",��,6����)5">0-$�%�0	��6���,�(�9I��I�!)&:,�$$�1k3��1��#$M�'�'�?&
�3%j<��=)'�:'�%h�34�3%�5����6��������3=�:*�.�:'�?&)5">0M"."3�:'� 9':�%j??,�".��!:����:���
-$�=9�="" =0&!:��=-.�-$�=9�=""�3!'�>0�:�)0$"�,6�%h �.+. 2533 ����:'�%h �.+. 2534 ?��
$�?���(�.%�&95�R5I��-$����9,�1!��&�	=9� %h 2533 "3�:'�%h 2534 U�4�1%;�>0(�.1�5"���$$�"$�
�34)5">0M".?���:�).�����:'� 9����,8%j??,�".��!:��T#6�=0&$2��I/�5M�'�'�?&�3>0��&�8����,� 
1���&%j??,�",��0'�:�3!'�>0�:�M�')'���,����  >0-$����+��A�(�%�&1"S�)'��J 1�0'��36-$�%�0	�
�6���,�(�9I��I�!)&:,�$$�1k3��1��#$�34?&T':�(�.���>05)�6���,�%�0	�%�&98>09��1�S?!#$ 
?&).$��3���(�.%2����#$=�'R�)2$�����#T 1�#4$9�.��!:��9�8/��	(�.=�'�#TM".$�'���$1�3�� =0&
19�5�".:����(�.9���,v������#TU�4�1%;�%j??,��"=��(�!'�>0�:�%�5����6���� =9�="" =0&
!:��1-.�-$�=9� (�����34?&T,����(�.1�5"���1%034��1�+-$�"$��34?&)5">0M". 

Hen Choy Kean(2540) M".+��A�������1-)�����341���&9�-$�9:�%�0	�(�%�&1�+M�� 
M".19�$ �6��=0&!:��T#6�(�"5�1%;�%j??,��34�3>0)'$���?���,">0>05)%�0	��6���,�(�%�&1�+M�� 
1�#4$�?��%�5�����)�(�=)'0&%h �31�3�� 1,400 z 1,800 �50051�)� 1�'��,6� U�4����(�.%�0	�-�"�6��(�
%�5���9/� ���-�"�6�����(�.>0>05)0"0� :5R3���=�.M-*"����(�.�6��T':� 1T'� (�.=88�&88�6����" 
�$�?�����(�.�6��=0.:�,��3:5R3$#4��34T':�0"���-�"�6��-$�%�0	� M".=�' ���!02�*!� ��#$!02���.�
"5�".:����(8%�0	��34),"�56� �&0��1%0'� ����6���,�%�0	���#$����6��������� ������?,":,T�#T�34
1���&9� )0$"?���=�:���(����%�$��,����T&0.����.�"5�  
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8������� 4 >0���(�.�6��=88��")'$>0>05)%�0	��6���,��34%0/�(�?,��:,"T2��� 
%h ���(�.�6�� >0>05)*(),�/M�') 

2527 
2528 
2529 
2530 
2531 
2532 

�'$��3���(�.�6�� 
1�#4$1�54��3���(�.�6��%h=�� 

1�#4$(�.�6��%h�34 2 
1�#4$(�.�6��%h�34 3 
1�#4$(�.�6��%h�34 4 
1�#4$(�.�6��%h�34 5 

1.65 
2.85 
3.85 
4.50 
4.25 
4.65 

����1�)2   *>0>05)(�T':��&�& 11 1"#$� 
 
?��)�����34 4 =9"�(�.1�S�$�'��T,"1?�:'� 1�#4$�3���(�.�6��$�'��1�3���$1%;��&�&1:0� 4 %h 

���(�.>0>05)9/�����:'� 4.25 ),�/M�' U�4�=9"�(�.1�S����+,��I�����1�54�>0>05)%�0	��6���,��34%0/�
(�%�&1�+M�� 1�#4$-?,"%j??,�1"3�:�34�3>0)'$���?���,">0>05) !#$ %j<�����-�"�6��$$�M% 

�!�  9��&!2�=0&!�& (2541) M".+��A�:51!��&�	�#6��34%0/�%�0	��6���,�(�I�!().-$�
%�&1�+M�� M"."��1�5�����"0$�(�=%0�%�0	��6���,� 36 =%0��"0$�(�?,��:,"��&834 92��AB�	
R��3 T2���=0&%�&?:8!3�3-,�R	 >0?�����?,"�&889��9�1�+���I/�5+�9)�	 (GIS) 9�����
?,"=8'�!:��1���&9�-$��#6��34%0/�%�0	�M". 3 �&",8 !#$ (1)  �#6��34�341���&9�)'$���%0/�%�0	�
�6���,� (L1) 12,971,928 M�' (2) �#6��341���&9�%���0�� (L2) 10,181,494 M�' =0& (3) �#6��34�34M�'
1���&9� (L3)  25,754,228 M�' =0&?�����9���:?�#6��34%0/�%�0	��6���,��34%����B$�/'?�5�)��
-.$�/0"�:1�3�� %h 2539 �8:'� (1) �#6��34%0/�%�0	��6���,��34$�/'(�1-) L1 �3?���:� 715,031 M�' (2) 
�#6��34%0/��34$�/'(�1-) L2 �3?���:� 360,003 M�' =0& (3) �#6��34%0/��34$�/'(�1-) L3 �3?���:� 156,752 
M�' U�4�?��>0���:5?,��36M".���M%9/'���%�&��+1-)1�A)�1+�A7�5?%�0	��6���,�-$���&��:�1�A)�
=0&9����	(�%h  �.+. 2543 

George A.Shumaker et al. (2000) M".+��A�!:��1%;�M%M".(����>05)M8*$"31U0(�
%�&1�+?$�	1?3� �8:'� %�&1�+?$�	1?3�=0&�,7(�0.1!3���3+,��I��(�:,)�2"58�34?&�����>05) 
M8*$"31U0 U�4���!�-$�:,)�2"58�,6�-�6�$�/'�,89I�� Supply =0& Demand (��&88)0�" U�4���!�
-$�:,)�2"58�,6�!5"1%;� 50-70 % -$�).��2����>05)M8*$"31U0=0&��������"��!�:,)�2"58)4��1%;�
?2":5�@))'$!:��9��1�S? 9':�-$�*�����>05)M8*$"31U0-��" 15 0.��=�00$� ?&).$�����6���,�
�#T=0&9,):	 %�&��� 27% -$��34>05)M".(�?$�	1?3�  ���(�.9�����>05)M8*$"31U0M". 750 0.��
=�00$�-$�9':�>9� 2% 9����,89$�!�,6�)��!:��).$����-$��,7 9����,89':�>9� 20% ?&
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>05)M". 75 0.��=�00$� 9����,8 B20 -$�)0�"�6���,�"31U0-$�?$�	1?3� �$�?���36�����105�1�5�
$2"��2� 10 1U�)	)'$%$�"	9����,8!'�:,)�2"58?&���(�.M8*$"31U0=-'�-,�M". 

9����  8,<9�8,)5=0&!�& (2543) M".+��A� ���:5?,����(T.�6���,�%�0	�1%;�1T#6$1�05�
9����,81!�#4$���)	"31U0  1�#4$+��A�!:��1%;�M%M".(��������6���,�%�0	�1%;�1T#6$1�05�9����,8
1!�#4$���)	"31U0=0&�6���,�%�0	�1�#4$�����"1%;���)�7��-$� Palm Oil Diesel Fuel �:�M%���
+��A�>0��&�8�34?&1�5"-�6��,81!�#4$���)	=0&9I�:&=:"0.$�$,�1�#4$���?�����(T.�6���,�%�0	�  
*"�M".����6���,�%�0	�>9��,8�6���,�"31U0��2�1�S:(�$,)��9':�>9� 20% *"�%�5��)�-$��6���,�
%�0	�"58 ".:�����"0$��6���,�%�0	�?��1�#6$-$�1�0S"(� (Palm Kernel Oil) *"�9':�-$�>0
%�0	��6���,��39':��34(�.�6���,� 2 9':�".:��,�!#$ 9':��$�-$�>0%�0	�?&M". Crude Plam Oil 
(CPO) =0&9':�(�-$�>0%�0	�?&M". Crude Palm Kernel Oil  (PKO) U�4��3%�5����6���,� 3-5% =)' 
CPO �3%�5����6���,� 80-90% >0����"9$8�,81!�#4$���)	%�&1I�)'��J ",��36 

1. �"9$8�,81!�#4$���)	"31U0 YANMAR 9/81"3�:"31U0 >0�34%���i:'�9�����)5"
1!�#4$���)	M".1T'�1"3�:�,8�6���,�"31U0 $,)��956�1%0#$��6���,�(�1T#6$1�05�1�'��,8�6���,�"31U0 !:,�"��
�.$�0�1�S�M".T,"1?�-�&1�'�1!�#4$���)	 

2. �"9$8�,81!�#4$���)	"31U0 NISSAN 4 9/8 >0�34$$���%���i:'� 9�����)5"
1!�#4$���)	M".1T'�1"3�:�,8�6���,�"31U0 $,)�����956�1%0#$�1!3���,8�6���,�"31U0��� !:,�"���.$�0�
?���6���,�"31U0%�&��� 10-12% 193��-$�1!�#4$���)	=0&�'$M$193��.$�0����%�&��� 8-10% 

3. �"9$8�,81!�#4$���)	:54�(����?�5� ".:�����)	�34�.$ Mercedes Benz 300D :54�?��
��2�1���M%��"(�<'  >0$$���:'�$,)�����956�1%0#$�-$��6���,�1T#6$1�05� �6���,�%�0	�956�1%0#$�
�:'��6���,�"31U0 10-11%  193��-$�1!�#4$���)	1�3�8=0&1"5�1�3�8�:'��6���,�"31U0M".T,"1?� 

4. �"9$81!�#4$���)	"31U0 4 9/8 TOYOTA *"�(T.$,)��9':�>9�),6�=)' 10% 20% ?���� 
100% -$��6���,�%�0	� CPO =0& CRO 1�#4$1%�3�81�3�8�,8�6���,�"31U0(�-,6�=��M".�8:'��6���,�
%�0	��34�2�$,)��9':�(�.���0,��.�(�0.1!3���,8�6���,�"31U0 $,)�����956�1%0#$��6���,�%�0	�����:'�
�6���,�"31U0%�&��� 8-10%  193��?���'$M$193��.$��:'�%�&��� 10-12%  
 T�!�5) �$�$2M�=0&!�& (2545) M".+��A�:5?,�1�#4$=%��/%�6���,�%�0	�1%;��6���,�1T#6$1�05�
�"=���6���,�"31U09����,81!�#4$�?,���0���1�A)�=0&1!�#4$���)	"31U0 �6���,�"58?&�/�>'��
��&8:����=�����1��3�: (Degum) =0&0"��"�'$�1-.����%i5�5�5�� 1����$0=0&*U"�Mw1��"
���!.�M".�/�(T.1%;�=$0�$�$0	(�������%i5�5�5������9	1$91)$�5w�1!T,4�=0&),:1�'�%i5�5�5��
)��0��",8 9,"9':�������%i5�5�5��-$��6���,� : 1����$0 : *U"�Mw *"��6����,�1�'��,8 100 : 20 :1 
1��501$91)$�	�34>05)M".�/����M%�"9$8���(T.(�1!�#4$�?,���0���1�A)�=0&1!�#4$���)	"31U0�34(T.



 

 

15 

���(�+/��	���+��A��,v���5�20�$�M"."��1�5�����������:'� 4 1"#$� *"�M�'�8%j<��=0&
$2%9��!-$����(T.���=)'$�'��("  
 :5T�  ��,4������� (2545) M".+��A����>05)=0&����"9$8�6���,�M8*$"31U0 �8:'�  
�6���,�M8*$"31U0 (Methyl Ester) M".?��������%i5�5�5���&�:'���6���,�%�0	�8�592�R5q�,8
1��50=$0�$�$0	 20% =0&*U"�Mw 0.31% -$��6���,�%�0	�8�592�R5q�&�:'��������%i5�5�5��).$��3
����:�>9�=0&).$�!:8!2�$2��I/�5(�.!��34$�/'�&�:'�� 60-62 $�+�1U01U3�9 *"�(T.1:0����
%i5�5�5��%�&��� 1 T,4:*�� >0?��������%i5�5�5��?&M".�6���,�M8*$"31U0 (Methyl Ester) 86.36% 
�031U$�$0 (Glycerol) 10.61% =0&�3���9/<193�=$0�$�$0	 3.03% -$�%�5���9':�>9��,6���" 
����"9$8%�&95�R5I��-$�1!�#4$���)	"31U0 1�#4$(T.M8*$"31U0 � 9':�>9�)'��J �,� %���i:'� 
� �349':�>9�-$��6���,�"31U0)'$�6���,�M8*$"31U0 1�'��,8 20 : 80 ?&(�.���0,�=��85"=0&$,)��
956�1%0#$��6���,�1T#6$1�05�?��1��&�3!'�(�0.1!3���,8���(T.�6���,�"31U00.:�J 
 1�A�+�3  +�39,�)	 (2545) M".+��A�!:��1%;�M%M".(����>05)M8*$"31U0?���6���,�%�0	� 
?��>0���:51!��&�	*"�(T.$,)��>0)$8=�� *"�(T.$,)��!5"0" 12%  ��!�).��2�M8*$"31U0
1�'��,8  12.87  8��)'$05)�  �.��,�>0�0$�M".=0.:��!�1�'��,8 12.09 8��)'$05)� ���3�34��!�),6�
-��M8*$"31U0(�.1�'��,8�6���,�"31U0�34 13.12 8��)'$05)��,6� ?��>0���:51!��&�	*!����� �8:'�
1���&9��,8���0��2� =)'>0)$8=���34M".�,8M�'��� %j??,��34�3>0)'$!:��0.�1�0:*!�����$�/'�34
��!�:,)�2"58�0,� !#$ >0%�0	�=0&�6���,�%�0	�?&).$�M".�,8���%�&�,���!� 1�#4$M�'(�.��!�)4�����
?�1�A)����34%0/�%�0	�M".�,8>0��&�8 -�&1"3�:�,��.���!�>0%�0	�=0&�6���,�%�0	��3��!�9/�
���1�5� ?&�3>0���(�.*!�����>05)M8*$"31U01%;�M%M".��� 1�#4$�?����!��6���,�M8*$"31U0�34>05)
$$���).��2�)'$��':�?&9/���� M�'9�����-��=-'�-,��,8��!��6���,�"31U0M".=0&��!�>0�0$�
M".)'$��':�).$��3��!��349/��:'��36  ?��?&���(�.M".�,8>0)$8=�����-�6� ",��,6�*!�����M8*$"31U0
?���6���,�%�0	� !:�?&"��1�5����(�-,6�)'$(�-,6�-$�������>0�0$�M". !#$ �031U$�$0"58 �34M".
?����&8:����>05)M%���(�.�031U$�$08�592�R5q 1�#4$�?���031U$�$08�592�R5q�3��!�%�&��� 100 
�:'�8��)'$�5*0��,� U�4�?&���(�.>0)$8=��?��������*!�����9/�-�6� k&�,6�(����>05)M8*$
"31U01T5����5T�	1%;�$2)9������-��"(�<' !:�?&���)'$���-,6�>05)�031U$�$08�592�R5q ?&���(�.
*!������36�3!:��1%;�M%M".���-�6� 
 �0.����!	  +�3�$)=0&!�& (2546) M".+��A�!:��9�����(����>05)M8*$"31U0(�
%�&1�+M�� �8:'� %�0	��6���,�1%;��#T�34�3+,��I��(���������>05)�6���,�M8*$"31U0 *"�
!:��9�����(����>05)M8*$"31U0(�%�&1�+%�&1�5�M".?��$2%���9':�1�5�-$��6���,�%�0	� U�4�
>0���:51!��&�	�8:'� (�9I�:&%�)5$2%9�!	-$��6���,�%�0	�?&1�54�-�6�%�&��� 8.6% (�%h �.+. 
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2552 !:��).$�����6���,�%�0	�?&$�/'�34 1.2 0.��),� =0&?&1�5"!:��9�"20�&�:'��$2%9�!	=0&
$2%���-�6�  �0,�?���,6�$2%9�!	9':�1�5� !#$ !:��).$�����6���,�%�0	�?&�3����:'��34>05)M". (�
�&�:'��%h 2546-2552 ���>05)M8*$"31U0?��$2%���9':�1�5�-$��6���,�%�0	�9/�92"$�/'�34 0.8% 
(148  0.��05)�) (�%h �.+. 2549 
 �2�RT�"  1���$�=0&!�& (2546) M".+��A�!:��1%;�M%M".(��������6���,��#T(T.=0.:?��
$2)9������$������(T.%�&*�T�	".���0,���� U�4��#6��34+��A�%�&�$8".:�9���%�&�$8���
$2)9������$�����341%;�*�����$2)9������)��7��-.$�/0���*�����$2)9������ �.+. 2545  
=0&9���%�&�$8����34?����'��>05)I,�C	%�&1I�w�9)	w/" ?��=��-��"-$�*�����)��-��"
=���.�1!�#4$�?,��  ?��=��>05)I,�C	1%;� 7 %�&1I� !#$ -��?��=%�� 8&��34��4�9��1�S?�/% *"�,� -.�:
1��3�8 �,4:�$" 1�#6$9,):	=0&w�9)	w/" =0&?��=��I�!���>05)1%;� ��2�1���%�5��C0 I�!�0�� 
I�!1��#$ I�!)&:,�$$� I�!)&:,�$$�1k3��1��#$ =0&I�!(). (T.1:0�1�S8-.$�/0�&�:'��1"#$�
�5�2���� �.+. 2545 ��� �@AI�!� �.+. 2546 9���%�&�$8���$2)9�������34�3�6���,�1�0#$?��
��&8:����>05)  �341%;�*�����$2)9�������3?���:� 257 9���%�&�$8��� =0&9���
%�&�$8����34�3���>05)$����%�&1I�w�9)	w/"�3?���:� 648 9���%�&�$8��� �3���(T.�6���,�
�#T 83,147,825 05)�)'$%h =0&�3%�5����6���,��341�0#$?����&8:����>05) 16,490,676 05)�)'$%h 
9���%�&�$8����34(T.�6���,�%�5������1%;�>05)I,�C	%�&1I�8&��34��4�9��1�S?�/%=0&-��?��
=%�� %�&����.$�0& 51 =0& 24 )��0��",8 9':�9���%�&�$8����34�3�6���,�1�0#$(�%�5������
1%;�>05)I,�C	%�&1I�-��?��=%�� w�9)	w/" 8&��34��4�9��1�S?�/% =0&1�#6$9,):	 =)'0&%�&1I��3
%�&����.$�0& 20 ����.$�0& 29 -$�%�5����341�0#$�,6���" *�����$2)9������$����=0&
9���%�&�$8���%�&1I�w�9)	w/"9':�(�<'$�/'(�1-)��2�1���=0&%�5��C0 �3���(T.�6���,��#T
%�&����.$�0& 55 -$��,6���" =0&�3%�5����6���,��#T�341�0#$%�&����.$�0& 67 -$�%�5����34
1�0#$�,6�%�&1�+ �$�0���1%;�I�!)&:,�$$� �3���(T.�6���,��#T�.$�0& 27 �3%�5����6���,��#T1�0#$
�.$�0& 13 9':�I�!$#4��3%�5������(T.�6���,�=0&%�5����341�0#$(�0.1!3���,�%�&����.$�0& 2 ���
�.$�0& 8 *�����$2)9�������34(T.�6���,�=0&�3�6���,��341�0#$(�%�5������ 9':�(�<'1%;�*�����
-��"(�<' �34)5"),6�1!�#4$�?,���34�3=���.��:�),6�=)' 1,000 =���.�-�6�M% U�4�*�����%�&1I�-��?��
=%�� 8&��34��4�9��1�S?�/% =0&1�#6$9,):	 9,"9':�-$�%�5����6���,��341�0#$)'$�6���,��34(T.9/�92" !#$ �,4:
�$" �3!'� 0.88 �$�0���1%;�w�9)	w/" =0&1�#6$9,):	 �39,"9':� 0.55 =0& 0.45 )��0��",8 8&��34��4�
9��1�S?�/%=0&-.�:1��3�8�39,"9':�1�'��,�!#$ 0.08 9':�*"�,��3!'�9,"9':��.$��3492"  


